)%t dtlel Act wedAN Hsa, atitlletorR

Hsoll &R sMis: €2/201529, S &les?, adl-3 Aadlel dl. 12/0:/2029 il
Ao Hso gl AwallHl  wAd Wlot-cligel UleHs AMd  udlaudl yolda ysllell  alul
sgcllolloll WARBAA UloR Sl Hs? &Rl dl. 1U/02/20109 ol A% YR 531 A e Gscl
udlattell GReERA gl 518 xulct dlal Al A dl. 29/0/2099 oll A% WUWRell 19-00
sclls YUlHl Hsaal 33 ARl Aldct %Y sl wRUAUHL MAA . B Weadd GRECURL
ARl Hsoal Becll Al YLl 518 A HAA ol Al Gsd WAdatct WoR Sl A
%33 slelaldlal v sl8elcd BoAR- Sl A3E vl 9182 scUHL A BD. ol A W s
AR Sl Yol oA HsA glRl YeUH dotsslofl wat-ctgset Uuulcis A udleuHi GReaR
RoAd uetl AIle AR 323l el Yl ollast dotsstell sgjer ylgllaedl
2 "2 saAlcllstial awteiutat GRecRAoll el dar sl YRt scHl uladl. Bofl ol
GRERAA 33| ol Al

Advt. No. 92/ 201617 Copy Holder - Final Answer Key

%l:f Option & Answer (With Options) Correct Answer
1 2" is equal to.......... (B) 144 point
(A) 72 point
(B) 144 point
(C) 36 point
(D) 54 point
2 Which proof reading mark is used to make the lines in vertical alignment ? A) 1l
(A) N
(B) X
(c) !
(D) =
3 )8Rl AUl AURLRL A URR scul [Aetat gl “@Au afR (D) 17 WsANR
Roto{l Gorctll saut B o saltMi A & ?
(A) 5 AR
(B) 11, aluR
(C) 14, BAwR
(D) 12, us2R
4 1 em is equal to (A) 2en
(A) 2en
(B) 4 en
(C) 2.5en
(D) 5en
5 9% coll YURG A sk vlAotlal c_uUA 1970HL GUR UL Gl (A a8l
sl A UL YoMl scUML LAl &l ?
(A) sl
(B) uslQemal
(C) usee
(D) dollcdret




(A)
(B)
(C)
(D)

Round punched on both side of paper is used by
Dye-sublimation printer

Inkjet printer

Dot matrix printer

Laser printer

(€

Dot matrix printer

(A)
(B)
(C)
(D)

Proof reading section must be free from
Noise pollution

Air pollution

Chemical pollution

All of the above

(D)

All of the above

(A)
(B)
(C)
(D)

RSl AclaLe 58 AAML Yl &dl ?
1940
1910
1928
1947

(€

1928

(A)
(B)
(C)
(D)

1000 3(Q2Lo{l clad 12% o1l Anclal Fecui Audl AsA ?
3. 1120
3. 1112
3. 1012
3. 1020

(A)

3. 1120

10

(A)
(B)
(C)
(D)

AUHLRA A ARS el Fau slA B ?
e

2L
gsall

sl

(A)

ULel

11

(A)
(B)
(C)
(D)

The re-use of out put of image carrier is possible in case of
Butter paper

Negative

Metal Types

Positive

(€

Metal Types

12

(A)
(B)
(C)
(D)

Ctrl+Alt+Del keys when entred, it .....
Alters the size of type

Shutdown the computer

Delete the saved files

Restarts the computer

(D)

Restarts the computer

13

(A)
(B)
(C)
(D)

olall a¥ etelladl Qa2 Al ol HWsAdl o ? - AUldell Ust? il

eURalUS
AAUS
vldlaus
Aluauus

(B)

AoAcLUS

14

(A)
(B)
(C)
(D)

‘.’ mark is used to insert

Not used as proof reading mark
Semicolon

Full stop

Colon

(€

Full stop




15

(A)
(B)
(C)
(D)

Kolkata is ......ccceeuunennees from the equator than colombo.
further

farther

more farther

furthest

(A)

further

16

(A)
(B)
(C)
(D)

The term ‘Dipthongs’ means
Partial combined letter
Partial seprate letter
Combined letter

Separate letter

(€

Combined letter

17

(A)
(B)
(C)
(D)

For proofing work, which paper you will use ?
Green

Red

White

Blue

(€

White

18

(A)
(B)
(C)
(D)

sAL AZR OUH) WA oM wellelt §s wudel 8 ?
Glell

Sl3al1R

dalleaun

Hgal

(€

qdelleaun

19

(A)
(B)
(C)
(D)

From the following, which part is identified as hardware of computer ?
MS office software

Key board

Mouse

Both (B) & (C)

(D)

Both (B) & (C)

20

(A)
(B)
(C)
(D)

‘@’ Aot AMleltl 2loe QL.
da

st

U3

amic

(B)

sl

21

(A)
(B)
(C)
(D)

For Letter press printing, generally the proofing machines are operated
Electrically

Thermostastically

Manually

Hydrolically

(€

Manually

22

(A)
(B)
(C)
(D)

While working, the copy holder may
Sing the song

Watch T.V.

Use mobile phone

None of the above

(D)

None of the above

23

(A)
(B)
(C)
(D)

URMUA 2 w2l gl gl 3 w2ldl sl URSR sl B 2
s sle

YA 81é

AU UBIR

GURell Gt

(€

ABAU AR




24

(A)
(B)
(C)
(D)

Control+S means
Delete files

Send files to recycle Bin
Save the file

Open new document

(€

Save the file

25

(A)
(B)
(C)
(D)

AR ARHL 2HLE 21t dLslol W Uet Aot gollNeeell A st

AU elRdlA Vsl Ry [@QBdl a2l at gaiNee sl uLsatHl wudl
?

stadet
YAletcllel
Yot cdloL

Y2

(A)

slafet

26

(A)
(B)
(C)
(D)

Proofing on long Paper of a continuous matter is identified as
Galley Proof

Page Proof

Second Proof

Machine Proof

(A)

Galley Proof

27

(A)
(B)
(C)
(D)

What is the meaning of ‘out see copy’ proof reading mark ?
Delete the matter

Pushdown matter

No abbreviation

Insert omitted portion of copy

(D)

Insert omitted portion
of copy

28

(A)
(B)
(C)
(D)

5@ us2e €A UR Sloll [QAREIRILN Yol ay woud & ?
sl wR(de

HUR 23U

Sl RAUSWLe

ARER U

(A)

sl wu(de

29

(A)
(B)
(C)
(D)

Which type of manuscript should be sent for proof reading in sealed cover ?
Leaflet

Price list

Question paper

Text book

(€

Question paper

30

(A)
(B)
(C)
(D)

Select single word for the following phrase: “A place where pre-school
children are looked after while their parents are at work”

Observatory
Creche
Corporate

Arsenal

(B)

Creche

31

(A)
(B)
(C)
(D)

One can not change the data if the file is in ..... .
.doc format

xlIs format

.pdf format

None of the above

(€

.pdf format




32

(A)
(B)
(C)
(D)

The initial output copy of a composed matter is known as ..... .
Manuscript

Print

Proof

Revised proof

(€

Proof

33

(A)
(B)
(C)
(D)

182-Loto(l elo(leldl M2 Rl Al YU SIAEL sl A¥AML UsIl ?
(Zecll

Heaygal

ofesAcd

HERY

(€

LR

34

(A)
(B)
(C)
(D)

A copy holder is employed in printing press for ..... .
Printing machine operation

Checking production

Reading manuscript

Maintaining job ticket

(€

Reading manuscript

35

(A)
(B)
(C)
(D)

AR se(l 2.
adslR

RdslR

adsR

agslR

(€

sl

36

(A)
(B)
(C)
(D)

Control+A means
Select all
Deselect all

Copy all

Delete all

(A)

Select all

37

(A)
(B)
(C)
(D)

While working the copy holder should .... .
Seat near proof reader

Stand near proof reader

Seat far away from proof reader

Stand far away from proof reader

(A)

Seat near proof reader

38

(A)
(B)
(C)
(D)

(AoS13ML Run HI2o{l 2NEs2 Sl 58 B 2
Win +R

Ctrl +R

Alt+R

Shift + R

(A)

Win +R

39

(A)
(B)
(C)
(D)

‘Centre’ mark indicates .... .
Put line in left

Put line in centre

Justify the line

Put line in right

(B)

Put line in centre

40

(A)
(B)
(C)
(D)

%l ABCD Ml A =26, MY =16, YOUR =29 &lal cll, THAT = ......ccooeemmrne.
67
73
52
59

(D)

59




41

(A)
(B)
(C)
(D)

Among the following, which one will be the most useful ‘TOOL’ for proof
reader ?

Pencil
Whitener
Language dictionary

Fluorscent pen

(€

Language dictionary

42

(A)
(B)
(C)
(D)

To convert type into ‘roman type’ use the following proof reading mark.
rom
Rom
bold
Bold

(A)

rom

43

(A)
(B)
(C)
(D)

U ctsiell B Aoeall gEctoll USIR WU ‘SLRML &l
URYl gEllal § URALAG ©.

ICLET N

dolus Ydstd

GRELN

dcdHtotgE

(D)

ddMlasEd

44

(A)
(B)
(C)
(D)

A copy holder has to work under ...... .
Machine operator

Proof reader

Manuscript writer

Cashier

(B)

Proof reader

45

(A)
(B)
(C)
(D)

One should keep one’s promises. (Change the voice)
Promises should be kept.

Promises should have be kept.

Promises should have to be kept.

Promises are to be kept.

(A)

Promises should be
kept.

46

(A)
(B)
(C)
(D)

To dry the wet film of printing ink of a proofed copy
Sprinkle fench chalk powder on proof

Put proofed copy in sunrays

Maximise pressure while proofing

Add oil into printing ink

(D)

Add oil into printing
ink

47

(A)
(B)
(C)
(D)

To copy a matter use the key
Control+C
Control+K
Control+O

Control+E

(A)

Control+C

48

(A)
(B)
(C)
(D)

asiytilel sRonellss HLEL GlRL cll.31-12-201601l A% SAAML A

3AA U Re{lar RSB 12 32cl ctw Yelloll sul 25U GUR

10 oy Yl 8% callos wlUclle] otssl sclMl wWAd B ?
3. 10.00 Gllw

3. 7.50 LW

3. 8.00 LW

3. 9.00 GLW

(B)

3. 7.50 AllH




49

(A)
(B)
(C)
(D)

Machine proof must be checked for its
Imposition scheme

Folding centre and trimming marks
Gripper margin

All of the above

(D)

All of the above

50

(A)
(B)
(C)
(D)

ay 201560 %Al Ul sitatlls Y512 Slal UMl B B ?

EAIRM
»aARAe ARl
ycl? Auil
RRle A

(€

RYlR Al

51

(A)
(B)
(C)
(D)

‘)’ mark indicates
Inverted word
Inverted sentence
Inverted line

Inverted type

(D)

Inverted type

52

(A)
(B)
(C)
(D)

Paper folds easily in
Grain direction

Across the grain direction
Diagonal direction

All of the above

(A)

Grain direction

53

(A)
(B)
(C)
(D)

AWAR Algsl YRl AxAell sl (BectHl WAd B ?
YRosololR

olollUsLsL

dcuULS

BBLE

(A)

Yo%atdR

54

(A)
(B)
(C)
(D)

To reduce ‘space’, which proof reading mark is used ?
e.q. #

less #

mini #

red #

(B)

less #

55

(A)
(B)
(C)
(D)

URAHL cltost WR(lell HetlH cluRIal sAL A Al B ?
s

JELATEIE]]

Gaoll

Gl Geuleot

(A)

s

56

(A)
(B)
(C)
(D)

It is in the benefit of a copy holder, if he possess the knowledge of
Copy right act

Trade mark registration act

(A) and (B) both

None of the above

(€

(A) and (B) both

57

(A)
(B)
(C)
(D)

The sum of two adjoining pages in 8 page imposition scheme is
10

11

8

9

(D)




58

(A)
(B)
(C)
(D)

UUA [Qeuwd dlsniol B [@Qetotdl ¢e 8l dell sUis el
ed §

g 9,

U Al

ddal Al

(B)

29 ¥,

59

(A)
(B)
(C)
(D)

The copy holder may skip one line in reading manuscript if it has ...... .
Very narrow space between two lines

Lines with different colours

Left align justification

None of the above

(A)

Very narrow space
between two lines

60

(A)
(B)
(C)
(D)

Find the correct spelling.
perseverence
perseverance
perseveranse

parseverence

(B)

perseverance

61

(A)
(B)
(C)
(D)

Copy holder must have the capacity to
Read badly written manuscript
Support proof reader by all means
Memorise wrongly written words

All of the above true

(D)

All of the above true

62

(A)
(B)
(C)
(D)

A sheet of paper when printed on both the sides with the same forme for
getting two copies of the same job, when trimmed from centre is called

Sheet work imposition
Half sheet work imposition
Work and tumble

None of the above

(B)

Half sheet work
imposition

63

(A)
(B)
(C)
(D)

sl AUl YuarA{lsl [@Qeaeus 3uell sl AUl Qs 1R
AclAd 35Ul [(Aelall sl AxpA oot e€RA MR “Elotetov
calgoll etteo{l @otetal 1000 B2cll Botdls €ciall Y2 ulsal AxAMRUL
3ecll R Wlddlell [l selMl wcl B ?

500 ¢l 600

150 &l 200

200 &l 250

300 ¢l 400

(A)

500 ol 600

64

(A)
(B)
(C)
(D)

‘WAN’ means

Wide area notebook
Wide area network
Wide acess network

Wide across network

(B)

Wide area network

65

(A)
(B)
(C)
(D)

UASIR LUl ‘d Asell AR YstReA 3 v
AGEL UL

Uolocl2

(AR

GunL

(€

Qs




66

(A)
(B)
(C)
(D)

For printing job, a text matter can easily be composed through
MS Word

MS Excel

lllustrator

Page Maker

(D)

Page Maker

67

(A)
(B)
(C)
(D)

‘I.c.” mark is used to change character as
Lower case

Lower cadre

Lower centre

Lower choise

(A)

Lower case

68

(A)
(B)
(C)
(D)

sl cRe{l AHUBS AAAR(Q Wcllott vl Vet A @Aneys
s3I Ay B ?

AUH AU

dAlgst dad

A%A AR

Reett daad

(D)

(el datad

69

(A)
(B)
(C)
(D)

Image generation in tiny dot formation is achived through
Dot matrix printer

Laser printer

Inkjet printer

Dye-sublimaTion printer

(A)

Dot matrix printer

70

(A)
(B)
(C)
(D)

sl sl Guri2isR A2l 520 AN He=A B ?
0B AL YadlUas

ekl sttatdls A

Redl Wt usterll AAS

GURell AQA A

(D)

GURall AQAU AN

71

(A)
(B)
(C)
(D)

To indicate ‘Wrong font’, which proof reading mark is used ?
n.p.

l.c.

w.f.

v.f.

(€

w.f.

72

(A)
(B)
(C)
(D)

“*” mark is used to
Insert semicolon
Insert colon
Delete colon

Delete semicolon

(B)

Insert colon

73

(A)
(B)
(C)
(D)

Asia’ 2ol A WauLdl.
siuRa

agdlel

dcyz™

Guue

(A)

siuRA




74

(A)
(B)
(C)
(D)

International paper sizes are measured in
m/m

Inches

Ems

Points

(A)

m/m

75

(A)
(B)
(C)
(D)

................... he is poor, he is honest.

Though
Inspite of
As

(B)

Though

76

(A)
(B)
(C)
(D)

For your printing press D.T.P. work, which printer you will prefer to buy ?
Xerox

Dot matrix and Laser

Inkjet

Only dot matrix

(B)

Dot matrix and Laser

77

(A)
(B)
(C)
(D)

In case of emergency, the copy holder must be capable of handling work of
Machine operator

Proof reader

Press manager

Cashier

(B)

Proof reader

78

(A)
(B)
(C)
(D)

YA + U Aot AR A5\
yldrsl
ldzen
ydlsl
ycllzan

(A)

yQwsl

79

(A)
(B)
(C)
(D)

The copy holder must have the knowledge of
Erection procedure of printing machine

Power supply necessary for each printing machine
Press maintanance

Language for which he has to work

(D)

Language for which he
has to work

80

(A)
(B)
(C)
(D)

ABos Aol sl sleABYsa (Becll W vsteloll A A He=ll
82

el

it slese

ulElctst

&l % RA2det

(8)

Al slcle™

81

(A)
(B)
(C)
(D)

How will you break the ‘Dimension’ word ?
Dim+ension

D+imension

No Break

Dimen+sion

(D)

Dimen+sion

82

(A)
(B)
(C)
(D)

‘D/Lead’ mark is used to
Add lead

Add space

Delete lead

Delete space

(€

Delete lead




83

(A)
(B)
(C)
(D)

SSlaututst digsl 9o Aol sl (BectHl WA ] ?
yyusle
oL

adl
Yod

(B)

adel

84

(A)
(B)
(C)
(D)

A packing of printing paper having details of its weight, date of manufacture,
quality of paper and manufacturer’s name on it's lable is known as
Pocket

Box
Roll

Ream

(D)

Ream

85

(A)
(B)
(C)
(D)

WAN of Y3 olld g & ?
World Area Network
Wide Area Network
Web Area Network
Work Area Network

(B)

Wide Area Network

86

(A)
(B)
(C)
(D)

-------- is used in Dot matrix Printer.
Black Ribbon
Dyes
Printing ink
Gel pen ink

(A)

Black Ribbon

87

(A)
(B)
(C)
(D)

During handling manuscript, sometimes it's paper tear because of
Old paper use

News paper use

Tissue paper use

All of the above

(D)

All of the above

88

(A)
(B)
(C)
(D)

‘gals’ 2oeall [Q¢1ell 2oe UL
alel

R

Yus

asla

(€

YuUs

89

(A)
(B)
(C)
(D)

After final proof reading, sometimes the print may not be in perfect manner,
who will be responsible ?
Proof reader

Manager
Machine operator

Feeder man

(€

Machine operator

90

(A)
(B)
(C)
(D)

1800 3(02Le{l clad UR 7% ulle A Al A dxqg dec 3auni Al &l
A ?

1926

1674

1774

1726

(B)

1674




91

(A)
(B)
(C)
(D)

How will you break the ‘Alignment’ work ?
Align+ment
Ali+gnment
Alignm+ent

Alignme+nt

(A)

Align+ment

92

(A)
(B)
(C)
(D)

(/) / mark is used to
Insert brackets
Insert Parentneses
Insert shilling stroke

Insert exclamation mark

(A)

Insert brackets

93

(A)
(B)
(C)
(D)

Folding of any paper from its length converts size to
Octavo

Quarto

Folio

None of the above

(€

Folio

94

(A)
(B)
(C)
(D)

To save the file, short cut key is
F2

F3

F10

F12

(€

F10

95

(A)
(B)
(C)
(D)

ol Aottmiell HELSlocll HET] GltURQL-YA 83 B ?
A H ool el
Hoe ol ddouou
of A % U AU
HAwAddl

(B)

HH o ddouau

96

(A)
(B)
(C)
(D)

The word ‘Paper’ is derived from the word
Pappyrus

Popyrus

Papyrus

Poeepyrus

(€

Papyrus

97

(A)
(B)
(C)
(D)

Suggest from lower to higher responsible staff in regard to a printing press
Helper - copy holder - proof reader - supervisor
Copy holder - proof reader - supervisor - helper
Proof reader - supervisor - helper - copy holder

Supervisor - helper - copy holder - proof reader

(A)

Helper - copy holder -
proof reader -
supervisor

98

(A)
(B)
(C)
(D)

dca (Qetdtal datdl vaatanouedl dfutetritott Hiual YHQld sal
“NABL” YMIQLUSL wlUcllHl wld B. Al oll§a] Y ol weudl.
Aolcd WBSI2 et ll§ 1R dca A4

Agloled WBSI22et oll§ 1R 2210l Wos Fclldalet AollR2?
Aol WSS alel ol g 2210l Aos Fcladlol AullRe %
Aglolcd WHSI22et oll§ s 22101 Wos Fclldalet AclR22

(B)

A W3S aet
oll§ SR 2oL Ao
3cllaael Qe

99

(A)
(B)
(C)
(D)

How will you break the ‘Simplification’ word ?
Simplific+ation
Simplifica+tion
Simpl+ification

Simplif+ication

(B)

Simplifica+tion




100

(A)
(B)
(C)
(D)

UL 510 Ucll ofsllotoll Mol BeotHl Al A A U2 s1R3AA
clcrUlUeal 58 deuaL ?

AR Wl yd daudl

AR WA ¥32 W AR ddlaqg

AR B Al ud Ad s2q

ool UYL Actrk ARl A3 5l

A u@ Wl yd
daudl




